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DIRECTIONS

Answering Multiple-Choice Questions

Answer all multiple-choice questions. If you fill in more than  
one answer to a question, or leave a question blank, the question  
will be scored zero. Incorrect answers will also be scored zero.

Answering Open-Response Questions

Do all of your work for each question in the space provided  
for the question only. 

Write your solutions, including all calculations, clearly and  
completely.

You are now ready to start. 

Record ALL  
your answers to  

multiple-choice and  
open-response questions  

in this booklet.

ATTENTION:

There are more open-response questions in this  
booklet than a regular booklet.
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Please read the questions in the Question Booklet;  
then fill in your answers below.

Multiple-Choice page 2

 To indicate your answer, use a pencil to fill in the appropriate circle below completely.

Like this:  

Not like this: 

&leanly erase your answer if you wish to chanJe it anG fill in the circle for your new answer.

Fill in only one circle for each question.

1 a b c d

2 a b c d

3 a b c d

4 a b c d

5 a b c d

6 a b c d

7 a b c d



Open-Response page 3

8 Square Removed   

7his rectanJle has a square remoYeG. 7here are alJeEraic e[pressions for the siGes� in centimetres.

The area of the rectangle without the square is 126 cm2.

Determine the side length of the square, x, in centimetres.

6how your worN.

 
The side length of the square, x, is BBBBBBBBBBBBBBB cm.

x

5x

3x

x



Open-Response page 4

9 How Fast Can You Ski?   

7his scatter plot shows the relationship Eetween the Gistance a Gownhill sNier is from the Eottom of a 
sNi hill anG the amount of time the sNier has Eeen on the hill. 

'raw an appropriate line of Eest fit for the Gata.

'etermine an equation for your line of Eest fit. 

6how your worN. If usinJ technoloJy� proYiGe support to show why your answer is correct. 
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Open-Response page 5

10 Tree Planting   

A hiJh school¶s enYironmental cluE is sellinJ trees to raise money. 7he cluE starts with a Gonation from 
the principal anG then collects money for each tree it sells.

Information aEout the linear relationship Eetween the total amount raiseG anG the numEer of trees solG 
is JiYen.

*raph all the Gata from the taEle on the JriG. IncluGe an appropriate scale on the Yertical a[is.

   

'etermine an equation to represent the relationship Eetween the total amount raiseG� A, anG the numEer 
of trees sold, n.

6how your worN. 

 
A = _____________________________________________ 
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Open-Response page 6

11 Comparisons   

/ine seJment A% has a slope of     .

'etermine the slope of line seJments ()� *+ anG -. Eelow. 

&omplete the chart Ey comparinJ the slope of each of line seJments ()� *+ anG -. to the slope of  
line seJment A% if all the line seJments were JrapheG on the same JriG. 
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Slope of EF = __________ Slope of GH = __________ Slope of JK = __________ 

x

y

4 8 12

10

20

30

40

0

E
F

x

y

8 16 24

2

4

6

8

0

G

H

x

y

10 20 30

8

16

24

32

0

J

K

Line segment EF Line segment GH Line segment JK

Comparison 
to line
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AB

Circle one: 

 parallel 

 perpendicular

 neither

Circle one: 

 less steep

 more steep

 same steepness

Circle one: 

 parallel

 perpendicular

 neither



Open-Response page 7

12 The Better Choice   

6hane has a choice Eetween two MoEs helpinJ people arounG his neiJhEourhooG. 

• Job A: 6haneތs total pay is shown on the JriG Eelow.  

• Job B:  6hane will receiYe Ease pay of ���� plus ���.�� per hour. 

'etermine the conGitions unGer which 6hane shoulG select -oE A anG the conGitions unGer which he 
shoulG select -oE %. 

-ustify your answer. 
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Open-Response page 8

13 What Height?   

7wo containers are pictureG Eelow. 2ne container is a cone� anG the other is a rectanJular-EaseG prism.

12 cm

8 cm

10 cm

9 cm

7he cone is completely filleG with water� anG then the water is poureG into the empty prism� without 
spillinJ.

'etermine the heiJht of the water in the prism.

6how your worN.



 

Please read the questions in the Question Booklet;  
then fill in your answers below.

Multiple-Choice page 9

 To indicate your answer, use a pencil to fill in the appropriate circle below completely.

Like this:  

Not like this: 

&leanly erase your answer if you wish to chanJe it anG fill in the circle for your new answer.

Fill in only one circle for each question.

14 a b c d

15 a b c d

16 a b c d

17 a b c d

18 a b c d

19 a b c d

20 a b c d

21 a b c d

22 a b c d


